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Inswer ull the questions
l"lkh guestion ..'IJJ \Ihlll('

mnl J

Each question iy followed by four options lettered A to D. Find 3 y ¢ vou have chosen
d . ' ophion ‘ .

In pencil on vowur answer vheet, the answer space which bears the same letier as i f

Cive only one answer to ench question. An example is given helow

. , count”?
Which of the following documents is used 1o deposit money Into a current ace

A Passbook

1§ Paying-in slip
G Cheque book
D Credit card

. id be shaded
The correct answer iy Paying-in slip, which is lettercd B therefore answer space B would be hadec

[A] e [C] (D]
Think carefully before you shade the answer Spaces; erase completely any answer(s) you wish to change.

Do all rough work on this question paper.

Now answer the following questions

1 The employees in a business organization are | 4. Which of the following errors will necessitate

concerned with the use of suspense account? Error of

A credit worthiness of the business, A.  omission,

B improvement of working conditions. B. commission.

C tax liability of the business. C.  principle.

D.  opinion polls of the public, D transposition

2. The concept which underlies that stock 5. The financial position of a business at a

should be shown at the 1dwer of cost or certain date will be shown in the

net realizable value in the balance sheet is
A.  trading account,

A.  prudence concept. B.  profit and loss account.
B.  accrual concept. C.  appropriation account,
C.  entity concept, D.  balance sheet.
D.  peniodicity concept.
6.  The source document for the preparation of
3 Purchases refer to goods bought for purchases day book is
A resale. A.  nvoice,
B.  credit B.  proforma invoice.
C.  exchange. C.  receipt.
D.  export D.  payment voucher,

24/5¢1041/wsc/cg




Use the following i .
questions 7 and : information to answer

(/’\n b:xfli;\zc;szoacquired amotor van for Le 90.000
- The annual depreciation rate is
20% on reducing balance basis.

7. What is the depreciation charge for the year

ended 31/12/20212

A
B,
G
D.

Le 43,740
Le 18,000
Le 14,400
Le 11,340

8. The accumulated depreciation at 31/12/2021 is

A Le 36,000
B.  Le32,400.
C.  Le 18,000
D. Le 14,400,
9. If a trial balance totals fail to agree, the
difference must be posted to a
A.  profit and loss account.
B.  suspense account.
C.  drawings account.
D.  capital account.
10. Patents, copyrights and trademarks are
examples of
A.  tangible fixed assets.
B.  current assels.
C.  intangible assets.
D. investments,
1. Factory wages are recorded in the
A.  sales account.
B.  manufacturing account.
C.  profit and loss account
D. trading account.

24/5¢1041/wsc/cq
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12.

13

14.

I5.

ﬁ——'——"

The sum of N 20,000 given to a petty cashier
as a resmbursement is

A.  capial

B. loan

C. float

D.  imprest

Control accounts are prepared to serve as
check on

A.  general journal.

B.  personal accounts

C,  source documents,

D. tnal balance.

A system of accounting where a business fails
to conform with the duahity concept 1s

A.  bookkeeping.

B.  single entry.

C.  double entry.

D. statement of affairs.

The excess of expenditure over income will be
shown in the balance sheet of not-for-profit

making organization under

A.  accumulated fund.

B.  current liability.

C.  current asset.

D. fixed asset.

The reversal of dishonoured cheque in the

cash book is recorded by debiting

A.  Bank Account and crediting Customer’s
Account.

B.  Suppliers Account and crediting Bank
Account.

C.  Customer's Account and crediting Bank
Account.

D.  Bank Account and crediting Sales
Account.

Turn over




17.

19

4
A reason for dishonouring cheques is when

A.  therc is sufficient fund in the account.
B.  therc is an alteration on the cheque
[C). the withdrawal is for private use

the account holder signature is regular

The eﬂm of insurance premium paid in
advance in the balance sheet of a business is

A. mcmeinmel;deuwcinmothcrmsct.
B‘. mcreaseu.nsut;incmmmhamct.
g. decrease in asset; decgease in lability

decrease in liability; increase in asset

Use the following information to answer
questions 19 and 20.

Mafinda Sports Club has thirty members
whose annual subscription is § 200 per member.
Subscription in advance and subscription in
arrcars on 1st January 2021 were § 200 and

$ 300 respectively, while subscription in
advance and subscription in arrears on 31st
December 2021 were § 500 and § 600
respectively.

The subscription figure to be posted to the
income and expenditure account for 2021 is

A, $6,200.
B. 56,000
C. $5,200.
D. §5,000.

The cash received during year 2021 is

A, 56,200 .

B.  $6,000.

C. $5,200.

D.  $5,000.

Royalty paid is an example of
A, matenals cost.

B. labour cost.
D.  overhead expenses.

22

23

25.

oods on credit from Bavo. In

Ayo bought g

\h'-t:nch ledger will Ayo record this transaction?
A, Sales ledger

B. General ledger

C. Private ledger

D. Purchases ledger

One of the items in the appropriation account
of a partnership 18

A. parmers’ loan

B.  partners’ drawings. \

C.  interest on partners’ drawings.
D. partners’ capital contnibutions.

Aledgeras a principal book of account is
used for

A single entry transactions.

B double entry transactions.

C. making sales requisition.

D making purchases requisition.
Use the following information to answer
questions 25 and 26.

The accoynting period of A and B Partnership
ends on Xlst December 2022.

Partners drawings at the rate of 5% during the
year were as follows:

Ist June 2022 N 36,000
1st October 2022 N 12,000

Partner A :
Partner B :

The interest on drawings for Partner A for the
year is

A. N 1300
B. ~N1.200
C. N1,050.
D.  N900.



26

27.

29.

3L

The total interest on drawings for the year is

A, N 1.800.
B. #1200
C.  ~1,050.
D.  ~900.

The logal creditors control account is used to
determine

A.  cash sales.

B.  credit sales.

C.  cash purchases.
D.  credit purchases.

Purchase of office furniture on credit is
recorded in the

A, general ledger.

B.  journal proper.

C.  purchases journal.

D.  purchases account,

In manufacturing account, the total of direct
material cost, direct labour cost and direct

expenses is
A, cost of raw materials consumed.
B.  cost of raw materials available.

C.  prime cost of production.

D.  cost of production.

The excess of purchase consideration over the
net realizable value of the assets is

A.  capital reserves.

B.  revenue reserves.

C. goodwill.

D.  premium.

The debit side of the three column cash book
records cash, bank and

A.  discount received.
B. discount allowed.
C.  creditors.

D. debtors.

3.

33

35

Use the foliowing information to answer
questions 32 and 33

GH¢
Stock 1/1/2023 20,000
Sales in 2023 190,000
Purchases in 2023 150,000
Carriage inwards 4,000
Returns inwards 10,000
Mark-up is 25%.

The closing stock as at 31/12/2023 18

GHe 40,000,
GH¢ 39.000.
GHe 36,000.
GHe¢ 30,000

GHe 47.500.
GHe 45,000,
GHe 36,000,
GHe 35.000

oNwE>

The accounting treatment of goodwill for a
business takeover is: debit

A.  Goodwill Account; credit Purchascs of
Business Account,

B.  Purchases of Business Accouri it
Goodwill Account.

C. Bank Account; credit Vendor Account.

D. Vendor Account, credit Bank Account.

The residual interest in the resources of an
entity after deducting all of its obligations is

A. assct

B. liability.
C. capital.
D. income.

Turn over



36.  Dividends are usually paid to shareholders as | 40
A percentage of
A Rross profit.
l? authorized capital.
C. net profit
D paid-up capital.
41
37. In preparing a bank reconciliation statement, a
standing order to a bank
A.  reduces the debit balance on the bank
Statement,
B. feduccs the revised cash book balance.
C.  increases the credit balance on the bank
Statement.
D.  increases the revised cash book balance.
Use the following information to answer
questions 38 to 40.
‘ D
Opening stock 1,200 42
. Purchases 15,000
Sales 25,000
Closing stock 5,400
Cost of goods sold 10,800
General expenses 2,200
38 Cost of goods available for sale is
A. D 16,200. 43.
B. D 15,000.
C. D 13,800,
D. D 10,800,
39.  The percentage of net profit to sales is
A, 56.8%.
B. 48%.
C. 21.6%.
D. 8.8%.

I'he rate of stock tumover 18

A 9 himes
B 7.57 imes
C 127 umes
D 2 umes

An invoice is a source document for the
preparation of the

A cash book

B.  sales returns journal.
C tracdhing account.

D. sales day book

Use the following information to answer
questions 42 and 43.

In Ade Enterprises, department A transferred
goods worth GH¢ 50,000 at cost to
department B.

The account from where the value of the
goods transferred would be deducted from 1s
the

A.  purchases account of department A.
B.  sales account of department A.
C.  purchases account of department B.
D.  sales account of department B.

The effect of the transaction on the cost of
sale of Ade Enterprises is that it would

A.  increase by GH¢ 50,000,
B.  decrease by GH¢ 50,000,
C.  not be affected.

D.  increase by GHe 100,000

A
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45.

47.

cow>

The

A ords hares
sln:en:.w " ¥l prefarcace
B.  authorized shares .
and ordinary shares
CD. debenture and preference sban::. :
- ordinary shares and debenture.
Le
Balance as per cash book 9,300
Unpresented cheque "$90
Uncredited cheque 2.135
The balance as per bank statement is
A, Le 12,025,
B.  Le 10345,
C. Le1.7ss.
D, Le6,57s.

When a debt written off is recovered, the

accounting entries in the books would be : debit

A Bad Debts Account; credit Customer's

Account.

Customer’s Account; credit Bad Debts

B.
Account,

C. Customer’s Account; credit Profit and
Loss Account.

D, Bad Debts Account; credit Trading
Account.

The Federal/Central government’s department

which is charged with the scrutiny of

ministries’ appropriation to ensure that they are

authonized is the

budget department,
payroll department.
stores department.

treasury department.

| 24/5¢1041/wsc/cg

share capital of 3 company is divided into

49

48.

Shares issued at nominal value is 1ssued at

A
B
C

D.

a discount,
a premium.
par.
interest.

A memorandum book used to ensure that there
is no extra budgetary spending in public
sector accounting 1s

A
B.
C.
D.

cash book.
vote book.
payment voucher.
virement warrant.

Sale of goods for D 2,060 to Alahi was not
posted. This is an error of

TOow?

commMission.
principle.
omission.
original entry.

END OF PAPER



